Question Paper Title : TI_06

Date of Exam : 04-07-2019 02:30 PM

Reference ID:(3415)  TRIRT o1 314 BT 311g?

AT &ATdIS SRyl Sita
B.T &=Tciier wroft Sfte
C.1 &Il Tt

D. 1 &ATciTe = uToft

Answer: AT AT I Sita

Reference 1D:(3192) A dibel Y% Arsd.’ T drerdid farg i,

Ad
B.ddha!

C.ug™
D.HISd

Answer: D.HEd

Reference 1D:(3424) qI e ST fag AT ol axT:
224,195, 168, , 120

A.144
B.145
C.143

D.146

Answer: C.143

Reference ID:(3173) fod T el YRR Xsardd IR ¥4 fergl.

AZTelt
B3l



C 3Tl
EININI

Answer: BEH?[

Reference 1D:(2946) Choose the option that best punctuates the given sentence:

What are you saying, Meeta said to her friend Dolly.

A.what are you saying? Meeta said to her friend Dolly
B.“What are you saying?” Meeta said to her friend, Dolly.
C.“What are you saying,” Meeta said to her friend Dolly.

D.“ What are you saying, “ Meeta said to her friend, Doll

Answer: B.“What are you saying?” Meeta said to her friend, Dolly.

Reference 1D:(3190) Hiar g1 AsGNT! TG YsGHHE Hdel.

AR Pl

B.3[AM® ATAd abe

C.8% 8 g YUIRT 9adl

D. 3BT Ig 3Tidl dad

Answer: D. 3BT Ig 3Tidl dad
Reference ID:(3165) Choose the correct form of verb that is in agreement with the subject:
Every man, woman and child in the hall given a pair of glasses with

coloured lens to watch the 3D movie.

A.have

B.are

C.were

D.was

Answer: D.was



Reference 1D:(2944)

Answer:

Reference 1D:(3163)

Answer:

Reference 1D:(3168)

Answer:

Choose the option that correctly spells the words to be filled in the given
sentence

The told the that he was a

A.beggar , passenger , liar
B.begger , passengar , liare
C.beggar, pasenger , lair

D.beger , passenger, lari

A.beggar , passenger, liar

Choose the appropriate conjunction for the given sentence:

they were on a picnic were enjoying themselves, it began to rain
suddenly.

A.Whether, if
B.As, so
C.If, so

D.While, and

D.While, and

Choose the option that best expresses the meaning of the highlighted
idiom/phrase:

At the end of the meeting, the chairman proved to be the only man of
substance.

A.Rich and powerful person

B.flexible person

C.worthless person

D.an unreasonable person

A.Rich and powerful person



Reference 1D:(3198)

Answer:

Reference 1D:(3411)

Answer:

Reference ID:(3171)

Answer:

Reference 1D:(3428)

Answer:

YRaAr! ufgell $RAT gediae a3 RfUd et el 3?2

DIUAT HERMRIT YST SHITRE 16 AT Jid GO WA (81 TR S) fa= IroRT
HA1?

Aggadt

B.GTGXT STI0T 7R gadl

C &g

D.3{GHT 3101 ApleR a¢

AggeRl

IYTfY fepaTue WS B 2 A Tafg g,

A JTRITA fohamue 3fhHe 3.

B. AT fohaTde epHe 3.
C.frurue gewHe g /e M gl YR araRdl Ad.
D.G ! fohaTue T dra.

C.foramue geH® g 3fhHD 3T Sial UHR ITURdT Ad.

SR 100 HIU™ 100 fGa9id 100 HTH 6= ebdld, TR 1 T 1 BT el
feagid &= Hhdr:

A1 fag

B.100 f&ad

C.50 fgaq

D.10 fead

B.100 f&aq



Reference 1D:(2945) Choose the option that correctly spells the words to be filled in the given
sentence:

The office is an elegant woman.

A.insurence , assistant
B.insurance , asistant
C.insurance , assistant

D.insurance , assistent

Answer: C.insurance , assistant

Reference ID:(3199)  4.UH.-S(SUT UGIURH HIURRH GHITH S0 HR MEHRAT Fgaim=, A
Hes IY 6 9 J.TY. YRA UG IURH JHT SATd 3l Bidl.
INCRIE R UIGERIEACEIMCIRT )
B.g,TY. HTUR SHTIOT fdep Ty Toid!
C.SITfcieh SURT HoeT
D guAHicivs!

Answer: B.g,TY. SHTUR SHTI0T fdeh e Toid!

Reference ID:(3416)  Reaimed SiagT , g1 i UST&H 99 = Bldl.

A TRISTaRIT I& BId
B. 3! dTed

C 9o dled

D elif+ai g2 §Id

Answer: A UNTSTaRIT & BId

Reference 1D:(3179) vt "o wr?



Answer:

Reference 1D:(3156)

Answer:

Reference 1D:(2948)

Answer:

Reference 1D:(3427)

Answer:

A FHH HTHT STAUTRT
B.HISIdb SICTUIRT

C.H™ HUIRT

D 3ffSTETd 7 SITOMRT

Y N N

B.HI NIN

Choose the correct form of verb for the given sentence:

We usually the festival of Diwali by putting up lights in our house.

A.have enjoyed
B.has enjoyed
C.enjoy

D.is enjoying

C.enjoy

Choose the correct form of adjective for the given sentence:

Raw green mangoes are used to make pickle. They are the ripe
yellow ones that we get in summer.

A.sour as
B.the sourest
C.the sourer

D.sourer than

D.sourer than

Teh 100 HICR dididl ¢ Teb Wid 3 YhaHed Helisd. T ¢Ael 165 HIC el
3 hdle AdSuarad! d& AN,

A.4.5 Qg
B.9 Yeha

C.7.5 Yhg
D.12 dda

C.7.5qdb¢



Reference 1D:(3421) IR PTal.
34,42,66,84,10894

A.45
B.35
C.55

D.25

Answer: C.55

Reference ID:(3417)  WTAIcU! 10Tl SHE IWTAT Hod HH! 3RIA?

A.3fehigid
B.UCId

C %S
D. B3l

Answer: C.didbs

Reference 1D:(3422) SR BOLSTER @ ANKRSDQ 3% Hahdaeg Pl ol 3d X ANKDSRQ @1
HY Yhdde Hal Jea?
A.BOLETRS
B.ZMJCRQP
C.ZMJLRQP

D.OLBTRES

Answer: B.ZMJCRQP

Reference 1D:(3164) Choose the correct word to complete the sentence:

Don’t worry Sham. You will easily yourself to your new job as you
are quite at public relations.

A.adept, adapt
B.adept, adept

C.adapt, adept



D.adapt, adapt

Answer: C.adapt, adept

Reference 1D:(3407) HERTY b dd 3HUBR UTTIH 2015 DU TREYH SHAT AUR 3 A
BId?

A.28 T 2015

B.28 A1 2015

C.30 TUd 2015

D.30 AT 2015

Answer: A.28 Qﬁﬁ 2015

Reference ID:(3151) Choose the appropriate pronoun form to complete the given sentence.

did the former President, Abdul Kalam, encourage to think
differently?

A.Whose
B.What
C.Whom

D.Which

Answer: C.Whom

Reference ID:(3176)  ITeb! 3 0 T ATGVARTRI 31 -

AT, e Ul
BT AUl
C.7% dos1 Hal giot
D. SR gIUl

Answer: D.aTrl'IT @ﬁ



Reference 1D:(2950)

Answer:

Reference 1D:(3406)

Answer:

Reference 1D:(3440)

Answer:

Reference 1D:(3200)

Choose the correct form of the noun for the given sentence:

Nehru’s for children made him be called Chachaji.

A.fondness
B.fond
C.founder

D.fondly

A.fondness

gR ol AIHMIAR g Sreiedn IRad-Te fdhar sfemfd=am SR,
YU & H&H Hifgdl Mgerd fdhar aR Aifgdl 3Mgerd Tl UTaee- Bbigd Tl
Qehdld.

A.SHEIT 39T fqHTT
B.baid G&fdl STANT(HTe )
C.gdr <grTay

D.dieurd

C . gai= <rarey

30 bl Uh] YHATT 20 Tl ThHBIHT QU gid 30T 10 i
PUITCTE! 7 BYUR Bl THUBHT NB/UR Wl TBTHE UdTd R
THAB T 7 NBQUR AP gxdiid- Hdld. bl gxdiaia- sal?

A.240

B.245

C.290

D.480

B.245

AR 2018 AL SV HATTAM TIC The AR HPHRNRME 30 T
Y31 eTEH SHIARM (SFOORTI) SIYANTT J&dTd dHall?

N CRIE R GERIGR:EIE]

B. Y HAT



Answer:

Reference 1D:(3186)

Answer:

Reference 1D:(3402)

Answer:

Reference 1D:(3439)

Answer:

C.a1forey 3Mfor IeNT AT

D.Xed HATg

D.Xed HATg

31, Tl U 1. § 1R Teparuaran Siur o gfRrd a?

A.S{T:TT

B.UTdT
C.3uex
D. Aot

B. ol

2018 auTHE Qg SO FRr&fu7 &ATd Ul RRIB R THUT H&
3Te.

A.22
B.20
C.21

D.85

C.21

MATHEMATICALMATHEMATICAL..... MATHEMATICAL 3T I3Td
MATHEMATICAL dt G=RIgil 10 deal el 3Tg. STUT AT GATIA ShHThHM
faoile RAT SRICIC 3H&R Pled Tl 0T IR FATa! 3d o, Ridcl
IR 3&R DIU?

AA

B.H

C.C

D.T

B.H



Reference ID:(3429)  U® UIRU Udh CId1 12 ARITHEN U= Jehdll TIOT GORT UTRY ot <Teh! 18 AMIiHed
quigul K& H& UdHal. SR gig! UTsy U do! 3UsUTd e, TR df el

HRUYTY ANTOMRT 965 3

A.30 diF
B.36 di¥d
C.40 d™

D.44 di¥g

Answer: B.36 did

Reference 1D:(3157) Choose the most suitable determiner for the given sentence:

The couple doesn’t have money but they are extremely happy with
each other.

Allittle

B.many

C.plenty

D.much

Answer: D.much

Reference ID:(3181) Fh il Ho oal arardr a1 wguftar o -

AT T SaUd B 3.
B. a1 g3Id oaul.

C. gy U Hiemo,

D.U9 dUqul,

Answer: AT T 39U BT 3.

Reference ID:(3184) Thd Yo ST fSHT0r a1 A THgNTS! T Xeq HIVIAT?

ATEUTHETT
B.WUIHTR

C.galad
D. {1



Answer: C.l:l_c{ITJIT'f

Reference 1D:(2949) Choose the correct form of adjective for the given sentence:

The children roared with laughter at his stories.

A.fun
B.funny
C.funnier

D.funfair

Answer: B.funny

Reference 1D:(3432) AT 3T B TN ITATAT 20% 3Tg. B ° IUF C T ITATAT 60% 3ATg. AT
I ThAd ARTS I 3.12900 3TN, C 9 A T ST B

3Te

A.2200 ¥TT
B.6600 3T
C.3300 39
D.4400 T

Answer: B.6600 >0

Reference 1D:(3159) Choose the correct form of modal auxiliary verb for the given sentence:

I have to go to Delhi on Thursday.

A.ought
B.might
C.could

D.should

Answer: B.might

Reference ID:(3442) A, B3 C 7 3TEYchH WT0ATAT WEfd HIT &dal. A 7 6 WpU Qe AT THH
d%Td, B+ 4 I d C - 5 1Y WIeal. SR A 7 3] arTd 18 I W, X
i 3redt I U AUl T UT fobd Tpd aTeat?




A.30
B.27
C.33

D.45

Answer: D.45

Reference ID:(3177) RigradieT WU H1a?

A HATTH] BTBThS NSl ToR eThUl

B.Rigr g&+ fddlidhd S0

C I8 HRYR UIgol
D.aRaR UGTUN Ul

Answer: A TN BTsThs 3NSR! TR CTH0l

Reference 1D:(3405) Qeleis ! HeRTyMEe HIur f[agHM arer Sifsameie IreHETe! 69 1
TR fort ual ot IR e,
A.RRR geurs fiyr
B. IRl Id Ucdh
C.UMAqUl TER
D . Ud D

Answer: C.UM=dgul TR

Reference 1D:(3162) Choose the most suitable conjunction to complete the given sentence.

| have been to London | met you last.

A.for
B.since
C.because

D.as

Answer: B.since



Reference 1D:(3183) e § Tegaitt 3/ Wit ST UHRI 3Me?

A DU D
B.IdYddh

C.aqdrad
D.IgdaK®

Answer: C.%W

Reference 1D:(3438) fectean T Arfasae fardt 3 3 3med SaieT 3Mell faww e 3ire g
e Rk gH T A1g1?
3425315213673182785391345235435

AUd

Bl

cdH

D.dR

Answer: cdH

Reference 1D:(3414) AT AR 3Gcied] U8 A1d iT?

ATY
B.gdt
C&
D.AU=A

Answer: **** THIS QUESTION IS DISCARDED ****

Reference ID:(3435) QI AATUN UehTd 9] Iycsdll T, Glal S1Y S UaR THTeTdl w1 387

A.3/4
B.1

C.1/4



D.1/2

Answer: C.1/4

Reference 1D:(3166) Out of the following options, identify the complex sentence.

A.The whole extended family arrived in Lucknow for their holiday
B.The family had finished with lunch and they all went for sightseeing.
C.Feeling nauseated, Seema fainted in the cinema hall.

D.A very elaborate dinner had been arranged at night.

Answer: C.Feeling nauseated, Seema fainted in the cinema hall.

Reference ID:(3188)  WTeiiaU! SIUTd URHTUETES fhanfaRivor sieq Arg} 2

A ffaa
B.&fad

C.gaa
D. 37

Answer: D.G‘ilﬂ

Reference ID:(3185)  “HIRI HROP IT arev=R= 31y -

A BT AT §TH e,
B.®Tala! SN - BN,
C. AR sIa9g HU.

D. TR | g0l

Answer: B.®lola! RERIKE KU

Reference 1D:(2947) Out of the following options, choose the sentence that is punctuated
correctly.

A.The pilot cried, The camels smell water and grass. An oasis is near!

B.The pilot cried, "The camels smell water and grass. An oasis is near!"



C.The pilot cried, "The camels smell water and grass. An oasis is near?"

D.The pilot cried, "The camels smell water and grass? An oasis is near!"

Answer: B.The pilot cried, "The camels smell water and grass. An oasis is near!"

Reference ID:(3433)  UHI gBIMGRM WYa! fhHdU& 30% 31 fawh! fdhaa amactt 38, AN
3D dI¢ STed™, I I1d B1UId [ fhAdeaR 40% A dTe Hal. T
TR FdH cahdR] 3Tg .

A.70%
B.40%

C.82%

D a8ctes! HIurdg et

Answer: C.82%

Reference ID:(3426)  &HI Jadh g UGS 7 fohm. TTard S1fUT Sordide aa- 2 fdt. arerd.
Jodidhs desd TN 5 Toheil. TTard. 3Ry fagea aTadid o STaT ®iordT far
3{Tg?

AJIR Y
B.3<R UfgH
C.3WR

D . ates! HIUTAT! e

Answer: B.STR UfgH

Reference ID:(3180)  Wciiaide! gobid! ST s,

ABR, A= - Hiferd fohanfa=ivor sreqg

B. AP, STYH - Afctaraes fharfaive sreqg
C.UREH, YA — RYcdrae fharfa=ivur sfeqg
D.319, G¢ - Rig foparfa=imom sioqg

Answer: AR, AT - Iiferd forarfaRiyor ey

Reference 1D:(3413) geTadl PR fdhar ag AT X ATl -



A TSI dels
B.UfRd SUS-ARI3T I
c.urfud= fau} ders

D.gWM SUS-IRI31 <

Answer: B.Uf3d SUS-TRTS1 &

Reference ID:(5993) T BT FHEER, T8 WEdT FHoTaT 387

- . ——
) ?
| e y 1

1 11 m v

Answer:

Reference 1D:(3155) Choose appropriate articles for the given sentence:

The I.T.D.C. (India Tourism Development Corporation) established by
Government of India with __ view to promoting International tourism has
___very significant role to play.

A.a, the, the
B.the, a, a

C.the, the, an



Answer:

Reference ID:(3153)

Answer:

Reference 1D:(3430)

Answer:

Reference 1D:(3167)

Answer:

D.an, a, the

B.the, a, a

Choose the option with the appropriate suffix to complete the given
sentence:

The parents were filled with excite when they heard about their son’s
success story

A.-d, -ing

B.-edly, -ion

C.-d, -ive

D.-ment, -ful

D.-ment, -ful

Ueh] WeRaR 3. 1000 fbyd fagifdsd el el 3ilg. ghMER 20% Y &l
44 fTdiaR 1 48T 50% < <dl. 3MTdl el fash! fdhad &1 3ig?

A.800 ¥
B.400 ¥4
C.300 30
D.900 ¥Ud

B.400 ¥

Choose the correct form of tense for the given sentence:

The country rapidly as an eco-tourism hotspot.

A.is, emerging
B.has been, emerging
C.had, emerged

D.is being, emerged

A.is, emerging



Reference 1D:(3195)

Answer:

Reference 1D:(3420)

Answer:

Reference 1D:(3194)

Answer:

Reference ID:(3175)

Answer:

ACdh DhTGH! YRIHR fHearel

AT (fEgrrit-mfas)

B. I (fTgRIMI-RIdR)

c.Ifta (Rgrmi-agrfem)

D. It (Gfa-gre Siidm SR Hisar TRRT)

AT (fEgurit-Hifas®)

31 30T § o TR G 24 3T 30T §, & 30T S o WRT 3 22 Y 35, T
3, §, & 30T S T gi a¥iel S

A.90 TY

B.98 qY

C.120 T

D Arfgcl ge=it Argt

D FTfet QR el

IHIYET ATfdPh TRRIATSS BHihUT 18 T 3ifeihg HIRT ST X
AT FATe,

AUy

B.gRICS fdhiren

C.olUlId

D.3SHRMA

B.gARICS fdhiren

T AT ST, TT ATRIT I fobaTue 3fies.

AHd
B.3HTcll
CXIT

DT 3ATeT

B. 3Tl



Reference 1D:(3158) Choose the option with the appropriate question tag for the given sentence:

You aren’t hurt,

A.aren’t you?
B.were you?
C.was you?

D.are you?

Answer: D.are you?

Reference 1D:(3172) 3ffa A At 7 vt o -

AT 3 d fad §rgs .
B.®IUIAT! ST 3ok drscd 3.

C. AR "iay IgTa.
D.H<t Y¥ §IUI.

Answer: B.ﬁm?:ﬂ'eﬁ Tﬁ@?ﬂ 3ffeRP Eﬂéfﬂ 3.

Reference 1D:(3412) BT HERIY T QeI T8 WTeATd HIST foregT 3iTe

Answer: A.SGHGITR

Reference 1D:(3170) ITH 3TaT Wl T e HH e foral.

A 3T
B.XTH
C.rd!
DY @l



Answer:

Reference 1D:(3419)

Answer:

Reference 1D:(3169)

Answer:

Reference 1D:(3154)

Answer:

Reference 1D:(3197)

A.3{TdT

g 37107 & g 9Tl UMK 35 318, T 3101 & =1 Jaiaeid B 2 a9 3T,
iedTd U HIST 38 34 a1d Rel TR U d 97 Blel.

A6
B.4
C9

D.7

D.7

IR T ThH AdTd ol SN T WG HYGIATS ] T Xeg bIUTdT?

ATTHRY
B.a1dS!

C.dxIcl

D.dgde

C.dxIcI

Choose appropriate articles for the given sentence:

Brahmaputra river, Assam’s lifeline has turned muddy and its water
has changed colour which is __ cause for alarm.

AA, a
B.The, the
C.The, a

D.An, the

C.The, a

gaid ufge HRA-IRET e 3nfife dare o fEewTof irnford e



C Je diedenf

Answer: C.@"c' ﬂ?ﬁ@f

Reference 1D:(3425) FIescIa ST g ArferesT qul &
145, 170, 197, , 257

A.226
B.225
C.224

D.230

Answer: A.226

Reference ID:(3410) 2R TME YRR TS it SITd S, AT S Racrol el TshY HictHe
Wierad! g Ao aisar AuiieRur exuarl gt Bl

AR
B.Gr™

C.aA8I
D.faan

Answer: B.alYJ

Reference 1D:(3182) @R, Tfd, Traar g HIurT UGR! Usgaiht ey Med?

ARdIdD
B.hIciddd
C.pRUId[h

D. Hd¢drdsdh

Answer: B.hIddIddh

Reference ID:(3401)  dsdM-I, 8 YRdTH Ufgal fl=M ¢ A <ol JRGIYU! UraquaTd T

A STHaRI-2007



B.3{lacIsR -2008

C.gPsR 2011
D.3ffdeIaR- 2012

Answer: B.3{lacIsR -2008

Reference ID:(3434)  U®HI UI1d YIUGT=AT G-I 100 WIURt TR, ST 50 Y ST TR
3Ted. ARSI Fascary iy ST arata o Rage Sodr! SHTeddr
fobat 31mg?

A1/2
B.1/3
C.1/4

D.1/5

Answer: A.1/2

Reference 1D:(3178) YT T TerAs fohardg i &iurd farag dar gid 2

A5G fehamug

B.fewds fhame
C.3HIfay fohamaeg

D.RIIdRei® fhame

Answer: A bgad fohaTug

Reference 1D:(3189) TRRTAT d1eT 39 395d gl IT areTdid fsharde sl

AR

B.BIdl
Cc.3d

D.dlc

Answer: B.‘@EIT

Reference ID:(3187) ‘Yig=gTaR HTes HRUr JT JTFARTET 3 -



A DRI fafgon.

B.IT1=AT HIUGTT ShI1esT 3T SATaul,
C.<ETdT Sie) B,
D. YT AT U8,

Answer: A.$I_63FR°[ ﬁﬂ%ﬁf

Reference 1D:(3193) ‘TS <1 3MEaUiA fod Stes Uruad.’ a1 T foramdg siies.

A ST
B.3{T3qUfA
C T
D.faa

Answer: C.UTUHH@[

Reference 1D:(3436) faeiean shuTd Yeld TReaT dhIvr! 3Ric?
15, 55, 24, 68, 33, 81, 42, 94,

A.60
B.51
C.107

D.120

Answer: B.51

Reference 1D:(3160) Choose the appropriate preposition for the given sentence:
Initially, progress may be slow but never give a child who isn’t

reading.

A.out of
B.up at
C.over

D.up on

Answer: D.up on



Reference 1D:(3437)

Answer:

Reference 1D:(3409)

Answer:

Reference 1D:(3191)

Answer:

Reference 1D:(3152)

T i HETH AT YT ST T 3, 4 30T 5 AT HIT S 39dT et 2
qd.

A.902
B.962

C.992

D a8t HIvrdg et

B.962

YRAT Ufgel G HaS e 3gdd 10l ld?

AIHIR I
B. 10 JaH
C.uq. Ut 9= auf

D.gMd 3RIT

AFHHR I

faddt, TreRTaT, 331, db, Paod, YT Sk HRUMN fHATTR e
3 gaTd. 9 yatyg fAgsT.

A zareff
B. 3Rt

c faemff
D.gopareff

C faemff

Choose the option with the appropriate suffix to complete the given
sentence:

The young boy was optimist about his test marks as he had put in
many hours of study before taking it.

A.-ically
B.-ic

C.-ism



Answer:

Reference 1D:(3174)

Answer:

Reference 1D:(3441)

Answer:

Reference 1D:(3408)

Answer:

Reference 1D:(3403)

D.-aly

B.-ic

‘3 TUIHRT SR T YTl AequHg HIVIT?

AXTHHTTT

B.HGAST
C. g1

D.ATYHRI

AXTHTUT

¢ IS g Gas AT ST 3l Jg- 8T S&ATd Sall, aR &1 AR 10T
ST S, 3HCT ST I GRAIM G S Bid. $ioi d Rde, SRIhHTT
3Gl STeAT A1 Blll. TR T g1 St G fobell gicil?

A14
B.18
C.15

D.16

A14

HERTY I hyd SHUDBR AN GBI DS 3MT6?

A0l
B.3MRTETG

f&HeR 2018 AL TIeT 31U HERTY YrH-ATHE WSS RS Pl
faTa Bid.

A3 DI



Answer:

Reference 1D:(3161)

Answer:

Reference 1D:(3404)

Answer:

Reference 1D:(3423)

B. TS TA%RA

C JEHHR IHATYA
D.gHId ARTd

A3 B

Choose the appropriate prepositional phrase for the given sentence:

Mary overcame her sorrow her children.

A.for the sake on
B.for the sake of
C.for the sake by

D.for the sake with

B.for the sake of

B HERIFMHE R gedlaosrdl YSHRC 31Tg 0T
AT 2000 A YTHRCY REDHR SUATd ST,

A SR e

BT SR

(OXCINIEI KACRIEERS PG|
D.fag U 3rg

AR e

Greil faciean Afdhae sidid U fafkiy %a faae 3iie. AAR gobidr Y
3fics:
90, 66, 45, 28, 15, 6, 1

A.45
B.28
C.90

D.6



Answer: C.90

Reference ID:(3431) U1 AU Wd: HaIT 20% IdHH THIGA!, IIcTedT IqHHIDT 80% T
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